“1/GeVA

tbar
T=
o
&

1/od?c/ dp™dp

Ratio to ATLAS

T

[EEN
o
o

H
(@)
1,

1078

[EEY

0.5

13000 GeV pp
S I I R B

)
top . . %
pT (ATLAS semileptonic ttbar) 413
o 1=
—
o
- — N
— o
[ —
— 1
B o
ii 3]
- —.2
\\ o
= X E
— RS _]
- . =
: .'\\:.\\\\\\\\\\\ : 6‘
SUNL TS (e0]
| \,1,\\."\ \\\\\\\\ ] (sr)
B ATLAS e o
o Pythia 6.428 390s._ .. —
— - 8- Pythia6.428391 Vv e :i
[ --©- Pythia 6.428 392 Ve g 1%
~ --x-- Pythia 6.428 396 S s
~ -~ Pythia 6.428 397 - e
| —-¥-- Pythia 6.428 398 S
— 4 wun
— i)
- —q O
L o
o R S S B | e
— T 42
[ Bgog/-9 T I _—% .
g ﬁ-—-—@-—- 1
L ¥;¥ —
a —0.5
1 " | " 1 " | " 1 1 " 1 1 " | " 1 1 " 1 1 " |
500 1000 1500 2000

pt" [Gev], pthar{t} in [150,1000] [GeV]



	Contents
	Page 1


